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SA CHET
M OMET R
el HEEEERY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 98,436
201 er23y| 17,610 9,400 8,210
=S 5,283
Al 12,327
01 AtR2tc|Hl 17,610 9,400 8.210
O et=EZH 7,610
OR0H & d&| 84
7,610,000 7,610
= 2,283
Al 5,327
OXSotEX4 HH tMOtE US| AL
10,000,000 10,000
== 3,000
Al 7,000
307 glztol & 30,000 30,000 0
S 6,891
Al 23,109
06 2= 30,000 30,000 0
OAIZItN 283 30,000,000& 30,000
= 6,891
Al 23,109
401 AlZHIZ SO 90,000 40,000 50,000
== 27,000
Al 63,000
01 Al&HI 90,000 40,000 50,000
OQHAEH B120{2l &8 Al
40,000,000 40,000
= 12,000
Al 28,000
OXSotE X4 HH OtMOtE 2SI A
50,000,000 50,000
=S 15,000
Al 35,000
k=TI Ie DN SN BN k=48 Exdal 77,600 0 77,600
302 OI=H M2 A= 77,600 0 77,600
02 2 S HES24=3 77,600 0 77,600
OHNSHE sl HIoHHHXIRAS(AIH =
ot) 77,600,000 77,600
SHHHHLES 87,000 0 87,000
201 fer23| 3,000 0 3,000
01 AtR2t2|HI 3,000 0 3,000
O eS| 3,000
OZUMol HNEA=SE & EEES 7
3,000,000& 3,000




S ORI
. oS
el HEEE2Y (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
202 04l 2,000 2,000
01 2LHoIH 2,000 2,000
OSUMalioe BRFA 2,000,000& 2,000
207 ARl 60,000 60,000
01 = 60,000 60,000
OSUHoHo Y N BAZULMH 2= 2L
g =9 60,000,000 60,000
301 22N 2,000 2,000
14 JIEt2 8= 2,000 2,000
OSUMoll 2 AHWF A=
2,000,000& 2,000
401 AlEHIZ 201 20,000 20,000
01 Al&H| 20,000 20,000
OSUMall 2128 ot Hd & 2
20,000,000 20,000
Mol ets 143,490 124,104 19,386
= 3,822
= 83,805
Al 55,863
Htoges 27,846 32,656 /4,810
201 er=2 3| 3,800 9,500 A5,700
01 AtR2t2|HI 3,800 9,500 Ab,700
O+ 3,800
ONBUNES Heizs 2ETY
3,800,000& 3,800
206 M=l 15,000 15,000
01 MHZH| 15,000 15,000
OMshogs el 7
10,000 *500H 5,000
O==27THH 7 (2= S)
5,000 «1,0000H 5,000
O+ 2 (1=0tH)
10,0002 «500H 5,000
301 EtE NS 3,550 2,750 800
14 DBt 23 3,550 2,750 800
ONsEgNY s S8l
20,0003 %150 3,000
ONEgNY Su=s 21
50,0002 11 550
302 OI=H o2& = 5,4% 5,406 0
02 2RI S HES243 5,4% 5,406 0
ONSSMY Mt ES+E
, 1603 «150H #4 Al 2t 5,4%
S50] AEAIE XA (EX) 2,476 2,658 A182
= 1,238
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SA CHET
M OMETR
Selr HHEas (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXNS =g doil2s8s
8,000,000& 8,000
= 2,400
Al 5,600
AATHIS)| HIASBAABLT (NALES F0IH0] 60,000 0 60,000
(2Z)
< 60,000
401 A& HIX R0 60,000 0 60,000
= 60,000
01 Al&HI 60,000 0 60,000
ORZHHHISI| HIASEAAE SXI(H2H
) 30,000,000& 30,000
= 30,000
ORZHHISI| HIASEAAE SXI(ADI2
=) 30,000,000& 30,000
= 30,000
2y 24 596,472 476,085 120,417
= 4,293
= 5,569
Al 586,610
g 24 573,615 422,759 150,856
201 et 3| 45,833 30,375 15,458
01 AtR2te|Hl 23,513 21,375 2,138
OBt~ 16,697
oglgte g4 4,000,000 4,000
ougeus o 2d 2
4,000,000& 4,000
OAuWE Wil & 28 SFAE MH
S 2,390,000& 2,390
oolet?I&H 7Y 3,307,000 3,307
oHI&UHl AXEY FX(SK, R 3EE
g ZHlgxz S) 2,000,000 2,000
O=¢gtl 7,816
onlge FR=A 3,816,000& 3,816
OHI&tHHIE™ LRFX(EX, 2, 3H)
4,000,000 4,000
2 s5=34l 22,320 9,000 13,320
OSZ223LHAl 15,705
O2d g3 SHRks
2,385,000& 2,385
oty FEAE HEH 23
1,000,000& x12& 12,000
olEgRus dXLX 018R=
110,000& * 122 1,320
OAIEEH|=XH 6,615




S ORI
I oS
el 2R 29 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ol AIEEHl |SXE=(SAIE, I
A&, ZBEAE 8) 6.,615,000& 6,615
202 04dl 3,049 2,772 277
01 2L AL 3,049 2,772 277
OLg? =M 3,049,000& 3,049
301 EtE NS 281,318 226,257 55,061
0 ARSRFES 281,318 225,257 56,061
OJl=s 700,000& x25E «12& 210,000
O34l 7,000 x25E*202 * 122 42,000
OuSH| 3,300 x5 202 * 12 19,800
Oll=H| 330,720 x25H 8,268
OYollEE 50,0002 x25H 1,250
308 XtXIEMSO0IH 91,425 84,180 7,245
10 0HlZ2sSdl2Ed42x 91,425 84,180 7,245
OXg0dlZ SYXE At
91,425,000 91,425
401 AIEHIX SO 30,000 30,000
01 AlZH| 30,000 30,000
OB EU ALY SA
30,000,000 30,000
403 AXIEHHSAH=201H 121,990 76,175 45,815
03 OHlZsSd XN E2x 121,990 76,175 45,815
OXg0dl=2 SEXE At
121,990,000 121,990
QIR NF2HHI(EX) 10,817 7,076 3.741
= 3,723
[ 2,128
Al 4,966
201 2egh=3| 2,806 716 2,090
= 1,320
s 446
Al 1,040
01 At2t2l] 2,123 0 2,123
OLZ2AUR AMOIHW=E ZH]
2,123,000& 2,123
= 637
=S 446
Al 1,040
03 A2 I 683 716 A33
OLge = 683,000 683
= 683
301 EtE NS 8,011 6,360 1,651
= 2,403
= 1,682
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2A:

QRS AN =t

Hu: (=)
R ogsREs EEREE)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
OMdise=s+ ZHlaxt
90,000,000& 90,000
02 2324l 82,837 82,837 0
OS2 SHIXHA 29,137
ORENE R+MFRAE HII2=
25,000,000 25,000
OMH ME2AAE MIIR= S
4,137,000& 4,137
OAIEZEHI S XY 53,700
ORE HE SETBAIM SXB2
37,000,000 37,000
Ot HIZ2AIAE 72l
16,700,000 16,700
206 =4I 1,000 1,000
01 M=4l 1,000 1,000
O HBEAAE AQXH 2
1,000,000 1,000
401 AIEHIZL 2 THYI 550,000 1,015,400 A465,400
01 AlZHI 550,000 1,010,000 460,000
oo & 532 500,000,000 500,000
Ot HIEANE |RAE2s 2
20,000,0002 20,000
OREF UE 24HBAIL B 2
30,000,000 30,000
THSHRIE X2 HEI(SEAK) (EX) 10,774,000 8,228,000 2,546,000
[ 5,387,000
= 2,154,800
Al 3,232,200
401 AlZHIZ S 0HHI 10,774,000 8,228,000 2,546,000
[ 5,387,000
= 2,154,800
Al 3,232,200
01 AlZH| 10,740,172 8,198,322 2,541,850
OZNSEX 7 Seofldadl S ol
7,461,300,000& 7,461,300
Fas 3,730,650
= 1,492,260
Al 2,238,390
OF3 MollAZ MK ZHI
2,377,410,000& 2,377,410
[ 1,188,705
= 475,482
Al 713,223
O=42 S3MA S /A8XS Zdl
496,400,000 496,400
[ 248,200




2A:

X XH -
o=

ORI Lt
o=z

SR TEE (Shol: &2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 99,280
Al 148,920
037907 2BMX 2T AN Zy
405,062,000& 405,062
= 202,531
= 81,012
Al 121,519
03 Al 2 CHYI 33,828 29,678 4,150
OZHEX 7 Ssolded g Jdl
18,700,000 18,700
s 9,350
& 3,740
Al 5,610
OZ=3 Mol IEMAXI= Hb|
8,590,000& 8,590
s 4,295
& 1,718
Al 2,577
O=42 SSAHN 21 AIgXE E|
3,600,000& 3,600
s 1,800
& 720
Al 1,080
O3 729X+ =Z A 81 XS &l
2,938,000 2,938
s 1,469
& 588
Al 881
HgsE8s(Ex) 2,100,000 860,000 1,240,000
= 840,000
Al 1,260,000
401 AIEHIZL 200 2,100,000 860,000 1,240,000
= 840,000
Al 1,260,000
01 Al&Hl 2,084,880 860,000 1,224,880
O7381 AW ARE ZSAE FEIAIY
744,600,000 744,600
& 297,840
Al 446,760
OS232 0 AAZ33AE HHIAY
744,600,000& 744,600
= 297,840
Al 446,760
O7481 L0 ARE ZSAE FEIAIY
595,680,000 535,680




2A:

QRS AN =t

Hu: (=)
R ogsREs EEREE)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
= 238,272
Al 357,408
03 A2 THYI 15,120 0 15,120
O7381 Aug A2 SSAE FHIAY
5,400,000 5,400
S 2,160
Al 3,240
0223 412 472 22AIL FHIAI
5,400,000 5,400
< 2,160
Al 3,240
O7481 2ug A2 SSAE FHIAY
4,320,000& 4,320
= 1,728
Al 2,592
ot JH| 12,420,668 11,327,495 1,093,173
= 735,000
s 35,000
= 3,945,000
Al 7,705,668
otd 2te| 12,420,668 11,327,495 1,093,173
= 735,000
= 35,000
= 3,945,000
Al 7,705,668
ot =24 1,021,668 2,880,495 A1,858,827
101 e124d| 3,120 3,120 0
04 JIZUtNZ2E2XNSE = 3,120 3,120 0
Ot I8 EHl S 3,120
oJl=s 130,000 +3&+8L 3,120
201 2= 66,548 65,375 1,173
01 AFS2t2ltl 12,898 11,725 1,173
Ot 4,125
Oootd JR=al 2,817,000& 2,817
OHE ¥ otd HYUEX ZHEI} =2
300,000 300
OcotdEHl XIS E +
138,000 138
OoldAIZE 1IN R & YEEES
200,000 200
OHUENSIE &AM =&
30,0002 *3IH 2 *3A 270
OSRMA & =27 S| =8
400,000 400
O=3+g 600
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SA CHET
T SHEFY
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OxctE?IAR 28+E
100,000 6% 600
O=¢gtl 3,173
Ostdate| ge=d 3,173,000& 3,173
[ DR =3 5,000
Ootd & A0td N2+ HHl S
5,000,000& 5,000
02 S3=gl 53,650 53,650 0
02323 LAl 38,650
OF3d BX=E dJIgs
28,650,000 28,650
OESYd adaAE &lIes
5,000,000& 5,000
OREA JtsE L 2 HIIQ3
5,000,000& 5,000
035234 15,000
oBExE IISE, =283 A4
15,000,000 15,000
206 M=l 2,000 2,000
01 MZH| 2,000 2,000
OcStd JI8H M= 7L 1,000,000& 1,000
O==ZZA M+8 S 7
1,000,000& 1,000
401 Al HIZL 201 950,000 2,810,000 1,860,000
01 Al&H| 950,000 2,800,000 1,850,000
O3t RAZ(XL6tA, A51d)
400,000,000 400,000
Ootd St==&(XY6H, A56td)
100,000,000 100,000
OHEcHE Al 2LIEHE
100,000,000 100,000
OLIEE wek JHE SA 200,000,000 200,000
OX&otd, 4618 MTEY SAH
150,000,000 150,000
ACHEZHI(H8) (HEAIY) 4,704,000 3,747,000 957,000
401 AlZHIZ SO 4,704,000 3,747,000 957,000
01 A28l 4,704,000 3,737,000 967,000
OLGHE(HEH) HH| A
1,000,000,000& 1,000,000
OAGHE (ZG2H) FHl At
2,000,000,000& 2,000,000
OACHA (0t A) HH| At
1,000,000,000& 1,000,000
OL0HH (A E A (237))ZHI At
704,000,000 704,000
St XZe(EX) 960,000 500,000 460,000
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SA CHET
T SHEFY
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 35,000
=S 445,000
Al 480,000
401 Al HIZ R 0HbI 960,000 500,000 460,000
[ 35,000
= 445,000
Al 480,000
01 AlZH| 954,393 496,850 457,543
OXNYSHE 224 Mg
884,393,000 884,393
== 442,197
Al 442,1%
OADIE HEBDRIAAY DH(LH)
70,000,000 70,000
= 35,000
Al 35,000
03 AIESTHYI 5,607 3,180 2,457
OX Yot =AE24 At 5,607,000 5,607
s 2,803
Al 2,804
2016t RAESAG(EX) 735,000 0 735,000
= 735,000
101 212A4H| 28,000 0 28,000
= 28,000
M OIRIMZZE2NSE S 28,000 0 28,000
O=JIotd R A2+ 212
28,000,000& 28,000
= 28,000
201 er23 | 17,000 0 17,000
= 17,000
01 At2t2l] 7,000 0 7,000
Ot~ 7,000,000 7,000
= 7,000
02 S3=gHl 10,000 0 10,000
OS2 Al 3,000,000& 3,000
= 3,000
OAl 2 EH|=XH 3,000,000& 3,000
= 3,000
OXtE e 4,000,000& 4,000
= 4,000
401 Al HIZL 201 690,000 0 690,000
= 690,000
01 AlZ28| 687,000 0 687,000




SA CHET
T SHEFY
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O=Itotd = A2 687,000,000 687,000
= 687,000
03 AlE220HHI 3,000 0 3,000
O=Itotd = A2+ 3,000,000& 3,000
= 3,000
Aot gH(28d) (HEAL)(2X) 5,000,000 4,200,000 800,000
< 3,500,000
Al 1,500,000
401 Al HIZL S 0HYI 5,000,000 4,200,000 800,000
S 3,500,000
Al 1,500,000
01 Al&H| 4,986,500 4,188,660 797,840
OSH(SHAXF) ot& FHl
4,986,500,000& 4,986,500
= 3,490,550
Al 1,495,950
03 AlESTHYI 13,500 11,340 2,160
OS2 (SHXNT) ot FH|
13,500,000 13,500
< 9,450
Al 4,050
Hees(erds2) 535,934 465,864 70,070
S eH X & ( F A TH ) 535,934 465,864 70,070
LS HeHXI = (HA TH ) 535,934 465,864 70,070
mJlsdEs 535,934 465,864 70,070
UIPIETSE—= 535,934 465,864 70,070
oNt2eis dEs 535,934,000 535,934
A2 JHI(LEHH L) 58,260 59,580 21,320
Jl23HI (&L nt) 58,260 59,580 1,320
Jl2ZHI( M T L) 58,260 59,580 1,320
201 er=23y| 28,860 28,980 2120
01 AtR2t2lHl 28,860 28,980 A120
O=3=+4 28,860
OTNLIAIEIA URIag
60,0002 x1H*116& 6,960
ONtaes =4+g
60,0002 *365 L+ 1H 21,900
202 048l 25,200 26,400 1,200
01 2L AL 25,200 26,400 21,200
OSEEZ0LI 100,000 x21E 128 25,200
203 =] 4,200 4,200
M FA2ELRFEI 4,200 4,200
OCHATH 1t 350,000& * 122 4,200
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